Sentence Transformation - Basic Level Test 03

Questions

1.

There is no one who does not know it.
--> Everybody.......cccooeiiiieiienn,

| can't swim as well as Tom.

There isn't much difference between the policies of the two parties.

--> The policies of the two parties are...........ccocevererivnnrnnn.

Unfortunately, no one survived the air disaster.
--> There were unfortunately no...........c.cc.c......

The weather is probably not going to change.
--> There will probably be.........................

There are no bottles on the shelf.
-->There aren't.....ccccceeeeeeeeeenn.n.
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7. There are no bananas in the fridge.
-->There are Not...........ccceeveeneen.

8. | know no French at all.
--> | do not know..............

9.  We have no time to prepare the speech.
-->We don't have.........ccooevevviinnnn,

10. The pupils have no books to read.
--> The pupils don't have...............
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